Efficiency vs dr

r 0.1
<

©0.09
2'0.08E
c

Q

G0.07F
=

%0.06
0.05
0.04
0.03f
0.02F |
0.0%f-{:-f-1
of—

......

2 I [ =— DOMstep3_ZToEE_CKF
& 1sk..| —— pQmsteps_zToEE default
~k —— DQMstep3_ZToEE_defaultNEWT
C T T [STTRE |’||||
LG A
k-4 - 4 b - {1 H-
107 1072 10t

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
10
1.2F-

Ratio

1.0

1_

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

-0.05
o

045 S
B0.04f+ oo b b

...............................

................................

........

15+

JIii

10 20 30 40 50 60 70 80 90 100

T
"

[ETLE. B e
— * :

PO

C!....



	Contents
	Page 1


